
IE950−1N, 1

Colorimetric transformation  i = 0
c*i  = c*0  = a c*b with a = 1,00; b = 1,00

W

X

N

5 steps

n*=1
n*=0,75

n*=0,50
n*=0,25

t*
1

c*

1

W

X

N

5 steps

t*
1

c*

1  
IE950−2N, 11

Colorimetric transformation  i = 0
c*i  = c*0  = a c*b with a = 1,00; b = 1,00

rgb −> cmyn* cmyn* −> cmyn*01.0
1.0
1.0 1.0

0.75
0.75 1.0

0.5
0.5 1.0

0.25
0.25 1.0

0.0
0.0

0.75
0.75
0.75 0.75

0.5
0.5 0.75

0.25
0.25 0.75

0.0
0.0

0.5
0.5
0.5 0.5

0.25
0.25 0.5

0.0
0.0

0.25
0.25
0.25 0.25

0.0
0.00.0

0.0
0.0

1.0
1.0
1.0 1.0

0.75
0.75 1.0

0.5
0.5 1.0

0.25
0.25 1.0

0.0
0.0

0.75
0.75
0.75 0.75

0.5
0.5 0.75

0.25
0.25 0.75

0.0
0.0

0.5
0.5
0.5 0.5

0.25
0.25 0.5

0.0
0.0

0.25
0.25
0.25 0.25

0.0
0.00.0

0.0
0.0

 
IE950−3N, 2

Colorimetric transformation  i = 1
c*i  = c*1  = a c*b with a = 1,00; b = 0,75

W

X

N

5 steps

n*=1
n*=0,75

n*=0,50
n*=0,25

t*
1

c*

1

W

X

N

5 steps

t*
1

c*

1  
IE950−4N, 21

Colorimetric transformation  i = 1
c*i  = c*1  = a c*b with a = 1,00; b = 0,75

rgb −> cmyn* cmyn* −> cmyn*11.0
1.0
1.0 1.0

0.75
0.75 1.0

0.5
0.5 1.0

0.25
0.25 1.0

0.0
0.0

0.75
0.75
0.75 0.75

0.5
0.5 0.75

0.25
0.25 0.75

0.0
0.0

0.5
0.5
0.5 0.5

0.25
0.25 0.5

0.0
0.0

0.25
0.25
0.25 0.25

0.0
0.00.0

0.0
0.0

1.0
1.0
1.0 1.0

0.646
0.646 1.0

0.405
0.405 1.0

0.194
0.194 1.0

0.0
0.0

0.75
0.75
0.75 0.785

0.431
0.431 0.797

0.203
0.203 0.806

0.0
0.0

0.5
0.5
0.5 0.569

0.215
0.215 0.595

0.0
0.0

0.25
0.25
0.25 0.354

0.0
0.00.0

0.0
0.0

 
IE950−5N, 3

Colorimetric transformation  i = 2
c*i  = c*2  = a c*b with a = 1,00; b = 0,50

W

X

N

5 steps

n*=1
n*=0,75

n*=0,50
n*=0,25

t*
1

c*

1

W

X

N

5 steps

t*
1

c*

1  
IE950−6N, 31

Colorimetric transformation  i = 2
c*i  = c*2  = a c*b with a = 1,00; b = 0,50

rgb −> cmyn* cmyn* −> cmyn*21.0
1.0
1.0 1.0

0.75
0.75 1.0

0.5
0.5 1.0

0.25
0.25 1.0

0.0
0.0

0.75
0.75
0.75 0.75

0.5
0.5 0.75

0.25
0.25 0.75

0.0
0.0

0.5
0.5
0.5 0.5

0.25
0.25 0.5

0.0
0.0

0.25
0.25
0.25 0.25

0.0
0.00.0

0.0
0.0

1.0
1.0
1.0 1.0

0.5
0.5 1.0

0.293
0.293 1.0

0.134
0.134 1.0

0.0
0.0

0.75
0.75
0.75 0.833

0.333
0.333 0.854

0.146
0.146 0.866

0.0
0.0

0.5
0.5
0.5 0.667

0.167
0.167 0.707

0.0
0.0

0.25
0.25
0.25 0.5

0.0
0.00.0

0.0
0.0

 
IE950−7N, 4

Colorimetric transformation  i = 3
c*i  = c*3  = a c*b with a = 1,00; b = 2,00

W

X

N

5 steps

n*=1
n*=0,75

n*=0,50
n*=0,25

t*
1

c*

1

W

X

N

5 steps

t*
1

c*

1

 

 
IE950−8N, 41

Colorimetric transformation  i = 3
c*i  = c*3  = a c*b with a = 1,00; b = 2,00

rgb −> cmyn* cmyn* −> cmyn*31.0
1.0
1.0 1.0

0.75
0.75 1.0

0.5
0.5 1.0

0.25
0.25 1.0

0.0
0.0

0.75
0.75
0.75 0.75

0.5
0.5 0.75

0.25
0.25 0.75

0.0
0.0

0.5
0.5
0.5 0.5

0.25
0.25 0.5

0.0
0.0

0.25
0.25
0.25 0.25

0.0
0.00.0

0.0
0.0

1.0
1.0
1.0 1.0

0.938
0.938 1.0

0.75
0.75 1.0

0.438
0.438 1.0

0.0
0.0

0.75
0.75
0.75 0.688

0.625
0.625 0.625

0.375
0.375 0.563

0.0
0.0

0.5
0.5
0.5 0.375

0.313
0.313 0.25

0.0
0.0

0.25
0.25
0.25 0.063

0.0
0.00.0

0.0
0.0

 
IE951−1N, 5

Colorimetric transformation  i = 4
c*i  = c*4  = a c*b with a = 0,75; b = 1,00

W

X

N

5 steps

n*=1
n*=0,75

n*=0,50
n*=0,25

t*
1

c*

1

W

X

N

5 steps

t*
1

c*

1  
IE951−2N, 51

Colorimetric transformation  i = 4
c*i  = c*4  = a c*b with a = 0,75; b = 1,00

rgb −> cmyn* cmyn* −> cmyn*41.0
1.0
1.0 1.0

0.75
0.75 1.0

0.5
0.5 1.0

0.25
0.25 1.0

0.0
0.0

0.75
0.75
0.75 0.75

0.5
0.5 0.75

0.25
0.25 0.75

0.0
0.0

0.5
0.5
0.5 0.5

0.25
0.25 0.5

0.0
0.0

0.25
0.25
0.25 0.25

0.0
0.00.0

0.0
0.0

1.0
1.0
1.0 0.969

0.781
0.781 0.938

0.563
0.563 0.906

0.344
0.344 0.875

0.125
0.125

0.75
0.75
0.75 0.719

0.531
0.531 0.688

0.313
0.313 0.656

0.094
0.094

0.5
0.5
0.5 0.469

0.281
0.281 0.438

0.063
0.063

0.25
0.25
0.25 0.219

0.031
0.0310.0

0.0
0.0

 
IE951−3N, 6

Colorimetric transformation  i = 5
c*i  = c*5  = a c*b with a = 0,50; b = 1,00

W

X

N

5 steps

n*=1
n*=0,75

n*=0,50
n*=0,25

t*
1

c*

1

W

X

N

5 steps

t*
1

c*

1  
IE951−4N, 61

Colorimetric transformation  i = 5
c*i  = c*5  = a c*b with a = 0,50; b = 1,00

rgb −> cmyn* cmyn* −> cmyn*51.0
1.0
1.0 1.0

0.75
0.75 1.0

0.5
0.5 1.0

0.25
0.25 1.0

0.0
0.0

0.75
0.75
0.75 0.75

0.5
0.5 0.75

0.25
0.25 0.75

0.0
0.0

0.5
0.5
0.5 0.5

0.25
0.25 0.5

0.0
0.0

0.25
0.25
0.25 0.25

0.0
0.00.0

0.0
0.0

1.0
1.0
1.0 0.938

0.813
0.813 0.875

0.625
0.625 0.813

0.438
0.438 0.75

0.25
0.25

0.75
0.75
0.75 0.688

0.563
0.563 0.625

0.375
0.375 0.563

0.188
0.188

0.5
0.5
0.5 0.438

0.313
0.313 0.375

0.125
0.125

0.25
0.25
0.25 0.188

0.063
0.0630.0

0.0
0.0

 
IE951−5N, 7

Colorimetric transformation  i = 6
c*i  = c*6  = a c*b with a = 0,25; b = 1,00

W

X

N

5 steps

n*=1
n*=0,75

n*=0,50
n*=0,25

t*
1

c*

1

W

X

N

5 steps

t*
1

c*

1  
IE951−6N, 71

Colorimetric transformation  i = 6
c*i  = c*6  = a c*b with a = 0,25; b = 1,00

rgb −> cmyn* cmyn* −> cmyn*61.0
1.0
1.0 1.0

0.75
0.75 1.0

0.5
0.5 1.0

0.25
0.25 1.0

0.0
0.0

0.75
0.75
0.75 0.75

0.5
0.5 0.75

0.25
0.25 0.75

0.0
0.0

0.5
0.5
0.5 0.5

0.25
0.25 0.5

0.0
0.0

0.25
0.25
0.25 0.25

0.0
0.00.0

0.0
0.0

1.0
1.0
1.0 0.906

0.844
0.844 0.813

0.688
0.688 0.719

0.531
0.531 0.625

0.375
0.375

0.75
0.75
0.75 0.656

0.594
0.594 0.563

0.438
0.438 0.469

0.281
0.281

0.5
0.5
0.5 0.406

0.344
0.344 0.313

0.188
0.188

0.25
0.25
0.25 0.156

0.094
0.0940.0

0.0
0.0

 
IE951−7N, 8

Colorimetric transformation  i = 7
c*i  = c*7  = a c*b with a = 0,00; b = 1,00

W

X

N

5 steps

n*=1
n*=0,75

n*=0,50
n*=0,25

t*
1

c*

1

W

X

N

5 steps

t*
1

c*

1

 

 
IE951−8N, 81

Colorimetric transformation  i = 7
c*i  = c*7  = a c*b with a = 0,00; b = 1,00

rgb −> cmyn* cmyn* −> cmyn*71.0
1.0
1.0 1.0

0.75
0.75 1.0

0.5
0.5 1.0

0.25
0.25 1.0

0.0
0.0

0.75
0.75
0.75 0.75

0.5
0.5 0.75

0.25
0.25 0.75

0.0
0.0

0.5
0.5
0.5 0.5

0.25
0.25 0.5

0.0
0.0

0.25
0.25
0.25 0.25

0.0
0.00.0

0.0
0.0

1.0
1.0
1.0 0.875

0.875
0.875 0.75

0.75
0.75 0.625

0.625
0.625 0.5

0.5
0.5

0.75
0.75
0.75 0.625

0.625
0.625 0.5

0.5
0.5 0.375

0.375
0.375

0.5
0.5
0.5 0.375

0.375
0.375 0.25

0.25
0.25

0.25
0.25
0.25 0.125

0.125
0.1250.0

0.0
0.0
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Colorimetric transformation of relative chroma c* by a, b
TUB-test chart IE95; Relative colour reproduction, Colour O input: rgb −> cmy0* setcmykcolor

output: no change compared to input

http://130.149.60.45/~farbmetrik/IE95/IE95L0N1.TXT /.PS; start output
N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D)
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